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http://www.chemistrybrickbybrick.com/LegoChemistryPart2.pdf

w? e o W W e e e e N e R o
JJJJJJJUUUUUUVVVVVVVVV&\- e
- e e e e N e N e e e vvvvwvvvvw\rbbb
! e e e e e e W e e VVVVVVVVVV\—V o
-t o e e e e e e N e vvvvvw»vvw:bb
-t e e e e e e e o e vvvvvvvvv»fww *d
' e ' N’ N
- i e e e e e e e e L e
—f e e e e o o e e VVVVWVV'VVV\-\' .
4 e ' ' N’ N
- et e e e e e o N ' e’ S R g
o el e e e o o N Pw»b\.«%

-t o A A A S S
O R N N N -’
LD PP P t ..
- e A S |
::JJJJJJJ N O e
I B B B B RS S : :
D B B B BN W R S
JJ~JJJJ~J~JJ~J\./~.J‘\JV\JV\/\.~.
JUV'\JVV&.\.»\'\\

O VIO IV R R R BW B
DIV IO W W R W S e dh et e
& B B ‘ | pin il it R PRI
= If we replace one hydrogen atom H in an ethane molecule C,H, with a methyl group,
) CH;, we get the next compound from the homologous series of alkanes: propane, C3H,.
We see that each carbon atom is still surrounded by an octet of electrons and has 4 -
covalent bonds. - e
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) If we replace one hydrogen atom H in a propane molecule C;Hg with a methyl group, we _
get the next homologue: butane, C;H,,
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=) In a similar vein, we get the next homologue of butane: pentane, CcH,,. SRR
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The next homologue of pentane: hexane, C;H,,. We can omit hydrogen atoms and (.

assume implicit octet rule.
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# The next homologue of hexane: heptane, C,H,, in a simplified baseplate presentation. ¥ -
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- The next homologue of heptane: octane, CgH,g, in a simplified baseplate presentation.
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In a propane molecule, we can choose a central carbon atom instead to replace a
hydrogen atom attached to it with a methyl group, CH;. We get isobutane molecule

' which has the same amount of carbon and hydrogen atoms as butane, C,H,,but has a
branching carbon skeleton. This called isomerism, and such compounds — isomers. We

" see that each carbon atom is still surrounded by an octet of electrons and has 4 covalent §

~, bonds.
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If we decide to show hydrogen atoms, we can use double bricks for coinciding locations.
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An isomer of pentane: isopentane. |
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In a propane molecu

-
- e -

le, we can replace two hydrogen atoms attached to a central carbon
® atom with a methyl group, CH;. We get another isomer of pentane — neopentane. There are

2 only 3 pentane isomers: n-pentane (straight, no branches), isopentane, and neopentane.
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Neopentane with restored hydrogen atoms.




Hexane has 5 isomers including n-hexane. Next slides show remaining isomers.
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Here n-hexane is shown differently.
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. This is an isomer of octane, CgH,,.
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